Appendix Two

Church Planting Needs by City

"In view of social trends, North America faces one of two scenarios in the next five to ten years: moral anarchy or spiritual revival."

- George Barna

Greater St. John's, NF Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	170,305	23	7,405	62
French	175	0	N/A	0
Chinese	385	0	N/A	0
Vietnamese	90	0	N/A	0
Russian	75	0	N/A	0
Norwegian	75	0	N/A	0
Arabic	65	0	N/A	0

Greater Halifax Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	317,485	99	3,207	60
French	3,440	0	N/A	2
Arabic	1,640	0	N/A	1
Chinese	1,165	2	583	0
Greek	410	0	N/A	0
Polish	265	0	N/A	0
Italian	240	0	N/A	0

Halifax Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	105,420	32	3,294	21
French	820	0	N/A	0
Arabic	1,175	0	N/A	1
Chinese	745	2	373	0
Greek	330	0	N/A	0
Urdu	230	0	N/A	0
Polish	210	0	N/A	0

Greater Saint John, NB Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	121,030	55	2,201	6
French	2,090	0	N/A	1
Chinese	100	0	N/A	0
Greek	65	0	N/A	0
Spanish	55	0	N/A	0
Polish	50	0	N/A	0
Portuguese	40	0	N/A	0

Greater Chicoutimi-Jonquière Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	915	0	N/A	0
French	157,265	6	26,211	73
Chinese	30	0	N/A	0
Spanish	20	0	N/A	0
Vietnamese	15	0	N/A	0
Romanian	15	0	N/A	0
Italian	10	0	N/A	0

Greater Québec City Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	8,155	2	4,078	2
French	645,520	26	24,828	297
Spanish	835	0	N/A	0
Serbo- Croatian	780	0	N/A	0
Chinese	545	0	N/A	0
Vietnamese	435	0	N/A	0
Arabic	320	0	N/A	0

Québec City Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	1,920	2	960	0
French	159,605	8	19,951	72
Spanish	405	0	N/A	0
Serbo- Croatian	280	0	N/A	0
Vietnamese	270	0	N/A	0
Khmer	170	0	N/A	0
Chinese	85	0	N/A	0

Greater Sherbrooke Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	7,990	5	1,598	0
French	132,220	9	14,691	57
Spanish	670	0	N/A	0
Serbo- Croatian	630	0	N/A	0
Arabic	230	0	N/A	0
Serbian	140	0	N/A	0
Polish	105	0	N/A	0

Greater Trois-Rivières Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	1,130	0	N/A	1
French	135,415	13	10,417	55
German	60	0	N/A	0
Bulgarian	60	0	N/A	0
Arabic	45	0	N/A	0
Lao	40	0	N/A	0
Khmer	40	0	N/A	0

Greater Montréal Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for
		Charcies	Charen	Every 2,000 People
English	555,675	80	6,946	198
French	2,249,925	185	12,162	940
Italian	62,105	5	12,421	26
Spanish	43,800	20	2,190	2
Arabic	33,275	2	16,638	15
Chinese	32,425	6	5,404	10
Greek	27,695	5	5,539	9

Montréal Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	153,045	28	5,466	49
French	606,060	79	7,672	224
Italian	30,880	2	15,440	13
Spanish	26,670	13	2,052	0
Chinese	15,065	4	3,766	4
Arabic	13,145	0	N/A	7
Vietnamese	12,720	1	12,720	5

Laval

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	33,010	2	16,505	15
French	251,310	18	13,962	108
Greek	8,105	0	N/A	4
Armenian	4,120	0	N/A	2
Italian	3,795	0	N/A	2
Arabic	3,440	0	N/A	2
Spanish	2,485	0	N/A	1

Longueuil

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	3,625	0	N/A	2
French	114,140	7	16,306	50
Spanish	1,305	1	1,305	0
Chinese	945	0	N/A	0
Vietnamese	740	0	N/A	0
Arabic	535	0	N/A	0
Italian	450	0	N/A	0

Greater Ottawa-Hull Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	602,895	95	6,346	206
French	295,175	17	17,363	131
Arabic	12,090	1	12,090	5
Chinese	11,620	5	2,324	1
Spanish	5,195	3	1,732	0
Italian	4,555	1	4,555	1
Vietnamese	4,530	1	4,530	1

Ottawa Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	234,605	39	6,016	78
French	32,055	2	16,028	14
Arabic	6,975	1	6,975	2
Chinese	6,215	3	2,072	0
Spanish	3,140	2	1,570	0
Italian	2,775	0	N/A	1
Vietnamese	2,560	1	2,560	0

Nepean

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	97,175	17	5,716	32
French	2,115	1	2,115	0
Chinese	2,245	2	1,123	0
Arabic	1,515	0	N/A	1
Italian	1,205	1	1,205	0
Polish	865	0	N/A	0
Vietnamese	805	0	N/A	0

Gloucester

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	70,675	11	6,425	24
French	20,870	2	N/A	8
Arabic	1,335	0	N/A	1
Chinese	1,270	0	N/A	1
Spanish	595	0	N/A	0
Vietnamese	530	0	N/A	0
Polish	440	0	N/A	0

Greater Oshawa Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	251,335	44	5,712	82
French	2,130	0	N/A	1
Polish	2,000	0	N/A	1
Italian	1,350	0	N/A	1
Chinese	865	0	N/A	0
Ukrainian	860	1	860	0
Portuguese	685	0	N/A	0

Oshawa Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	123,810	23	5,383	39
French	1,520	0	N/A	1
Polish	1,605	0	N/A	1
Italian	760	0	N/A	0
Ukrainian	610	1	610	0
Portuguese	505	0	N/A	0
Chinese	335	0	N/A	0

Greater Toronto Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	3,077,400	561	5,486	978
French	19,605	0	N/A	10
Chinese	243,825	64	3,810	58
Italian	95,995	4	23,999	44
Portuguese	68,445	8	8,556	26
Polish	52,520	2	26,260	24
Punjabi	51,270	1	51,270	25

Toronto Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	447,855	87	5,148	137
French	4,520	0	N/A	2
Chinese	44,450	12	3,704	10
Portuguese	33,840	5	6,768	12
Vietnamese	10,580	3	3,527	2
Italian	10,325	2	5,163	3
Spanish	8,800	7	1,257	0

North York

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	359,550	65	5,532	115
French	2,560	0	N/A	1
Chinese	37,795	14	2,700	0
Italian	30,220	2	15,110	13
Spanish	15,435	11	1,403	0
Russian	9,850	0	N/A	5
Farsi	8,320	0	N/A	4

Scarborough

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	363,415	59	6,160	123
French	1,975	0	N/A	1
Chinese	71,215	17	4,189	19
Tamil	21,525	6	3,588	0
Tagalog	8,340	2	4,170	2
Greek	6,705	1	6,705	2
Italian	5,770	0	N/A	3

Mississauga

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	394,955	53	7,452	144
French	2,830	0	N/A	1
Chinese	19,525	9	2,169	1
Polish	16,020	0	N/A	8
Punjabi	16,005	0	N/A	8
Portuguese	8,620	0	N/A	4
Italian	6,980	0	N/A	3

Etobicoke

Libricone				
	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	229,310	45	5,096	70
French	985	0	N/A	0
Polish	12,560	0	N/A	6
Punjabi	8,270	0	N/A	4
Italian	8,230	0	N/A	4
Spanish	5,700	3	1,900	0
Ukrainian	4,830	0	N/A	2

York

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	91,820	20	4,591	26
French	345	0	N/A	0
Portuguese	9,050	0	N/A	5
Italian	8,360	0	N/A	4
Spanish	5,780	2	2,890	1
Chinese	3,060	0	N/A	2
Vietnamese	2,825	0	N/A	1

East York

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	76,465	14	5,462	24
French	665	0	N/A	0
Chinese	4,470	1	4,470	1
Greek	4,250	0	N/A	2
Tamil	2,025	0	N/A	1
Tagalog	1,735	1	1,735	0
Gujarati	1,385	0	N/A	1

Markham

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	117,165	22	5,326	37
French	595	0	N/A	0
Chinese	32,960	6	5,493	10
Italian	1,685	0	N/A	1
Punjabi	1,495	0	N/A	1
Gujarati	1,160	0	N/A	1
Tagalog	975	1	975	0

Vaughan

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	96,175	11	8,743	37
French	310	0	N/A	0
Italian	14,270	0	N/A	7
Chinese	4,005	0	N/A	2
Hebrew	1,645	0	N/A	1
Russian	1,575	0	N/A	1
Punjabi	980	0	N/A	0

Richmond Hill

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	72,690	14	5,192	22
French	390	0	N/A	0
Chinese	15,905	3	5,302	5
Italian	2,245	0	N/A	1
Persian	845	0	N/A	0
Greek	565	0	N/A	0
Arabic	495	0	N/A	0

Brampton

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	216,710	35	6,192	73
French	1,235	0	N/A	1
Punjabi	12,595	0	N/A	6
Portuguese	5,495	2	2,748	1
Chinese	2,640	1	2,640	0
Italian	2,500	0	N/A	1
Spanish	1,880	0	N/A	1

Oakville

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	113,850	18	6,325	39
French	1,020	0	N/A	1
Portuguese	1,635	1	1,635	0
Chinese	1,290	0	N/A	1
Italian	1,120	0	N/A	1
Polish	920	0	N/A	0
Punjabi	745	0	N/A	0

Greater Hamilton Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	546,895	145	3,772	128
French	2,645	0	N/A	1
Italian	9,735	0	N/A	5
Polish	5,970	0	N/A	3
Portuguese	4,590	1	4,590	1
Chinese	4,220	2	2,110	0
Croatian	3,210	0	N/A	2

Hamilton Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	267,370	68	3,932	66
French	1,310	0	N/A	1
Italian	7,415	0	N/A	4
Portuguese	4,130	1	4,130	1
Polish	4,045	0	N/A	2
Chinese	3,340	2	1,670	0
Spanish	2,500	5	500	0

Burlington

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	128,690	27	4,766	37
French	1,005	0	N/A	1
Polish	950	0	N/A	0
Chinese	455	0	N/A	0
Punjabi	440	0	N/A	0
German	260	0	N/A	0
Portuguese	260	0	N/A	0

Greater St. Catharines-Niagara Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	337,995	131	2,580	38
French	5,265	0	N/A	3
Italian	5,880	4	1,470	0
Polish	2,460	0	N/A	1
German	1,625	5	325	0
Chinese	1,170	1	1,170	0
Spanish	1,075	2	538	0

St. Catharines Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	117,675	40	2,942	19
French	1,355	0	N/A	1
Polish	1,645	0	N/A	1
Italian	1,275	0	N/A	1
German	655	2	328	0
Spanish	610	2	305	0
Ukrainian	500	0	N/A	0

Greater Kitchener Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	332,165	105	3,163	61
French	1,495	0	N/A	1
Portuguese	6,970	2	3,485	1
German	4,800	2	2,400	0
Polish	3,310	0	N/A	2
Spanish	3,065	8	383	0
Chinese	2,245	3	748	0

Kitchener Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	151,505	43	3,523	33
French	705	0	N/A	0
Portuguese	2,395	0	N/A	1
Spanish	2,080	6	347	0
Polish	2,080	0	N/A	1
German	1,835	1	1,835	0
Romanian	1,825	1	1,825	0

Cambridge

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	88,905	26	3,419	18
French	445	0	N/A	0
Portuguese	4,335	2	2,168	0
Spanish	635	2	318	0
Vietnamese	425	0	N/A	0
Polish	420	0	N/A	0
Italian	400	0	N/A	0

Greater London Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	357,700	107	3,343	72
French	1,145	0	N/A	1
Polish	5,265	0	N/A	3
Portuguese	3,085	1	3,085	1
Spanish	2,635	5	527	0
Arabic	2,490	0	N/A	1
Chinese	2,240	2	1,120	0

London Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	288,475	63	4,579	81
French	1,060	0	N/A	1
Polish	4,980	0	N/A	2
Portuguese	3,060	1	3,060	1
Spanish	2,605	5	521	0
Arabic	2,445	0	N/A	1
Chinese	2,105	2	1,053	0

Greater Thunder Bay Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	116,435	32	3,639	26
French	920	0	N/A	0
Italian	1,610	0	N/A	1
Finnish	1,040	1	1,040	0
Polish	695	0	N/A	0
Ukrainian	245	0	N/A	0
Chinese	215	0	N/A	0

Greater Winnipeg Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	580,105	174	3,334	116
French	13,330	0	N/A	7
Tagalog	9,075	5	1,815	0
Chinese	7,175	3	2,392	1
German	4,910	5	982	0
Polish	4,435	0	N/A	2
Portuguese	3,910	1	3,910	1

Greater Regina Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People	
English	183,165	52	3,522	40	
French	820	0	N/A	0	
Chinese	1,805	2	903	0	
Vietnamese	590	0	N/A	0	
Spanish	365	1	365	0	
Tagalog	335	0	N/A	0	
Greek	320	0	N/A	0	

Greater Saskatoon Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	205,155	86	2,386	17
French	875	0	N/A	0
Chinese	1,805	2	903	0
German	1,040	1	1,040	0
Ukrainian	755	0	N/A	0
Vietnamese	445	0	N/A	0
Spanish	420	1	420	0

Greater Calgary Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	718,300	192	3,741	167
French	3,110	0	N/A	2
Chinese	28,705	12	2,392	2
Vietnamese	6,445	2	3,223	1
Punjabi	6,040	0	N/A	3
Polish	4,415	1	4,415	1
Spanish	4,355	8	544	0

Greater Edmonton Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	756,050	212	3,566	166
French	5,465	0	N/A	3
Chinese	25,015	8	3,127	5
Punjabi	5,930	1	5,930	2
Polish	5,490	1	5,490	2
Vietnamese	4,975	2	2,488	0
Spanish	4,170	5	834	0

403

Edmonton Proper

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People	
English	517,525	139	3,723	120	
French	3,940	0	N/A	2	
Chinese	24,690	8	3,086	4	
Punjabi	5,845	1	5,845	2	
Polish	5,370	1	5,370	2	
Vietnamese	4,965	2	2,483	0	
Spanish	4,055	5	811	0	

Greater Kelowna Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	129,375	58	2,231	7
French	655	0	N/A	0
German	1,300	3	433	0
Punjabi	705	0	N/A	0
Hungarian	275	0	N/A	0
Spanish	190	0	N/A	0
Italian	185	0	N/A	0

Greater Vancouver Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	1,370,635	373	3,675	312
French	6,860	1	6,860	2
Chinese	198,695	58	3,426	41
Punjabi	52,235	0	N/A	26
Korean	12,260	18	681	0
Tagalog	11,330	14	809	0
Vietnamese	11,265	7	1,609	0

Vancouver Proper

vaneouver 1 toper					
	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People	
English	322,915	87	3,712	74	
French	2,745	0	N/A	1	
Chinese	102,165	32	3,193	19	
Punjabi	9,925	0	N/A	5	
Vietnamese	8,610	3	2,870	1	
Tagalog	5,350	8	669	0	
Spanish	4,120	7	589	0	

Surrey

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	236,090	73	3,234	45
French	675	0	N/A	0
Punjabi	28,740	0	N/A	14
Chinese	7,765	1	7,765	3
Hindi	3,330	1	3,330	1
Korean	1,870	3	623	0
Spanish	1,640	3	547	0

Burnaby

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	120,550	37	3,258	23
French	680	0	N/A	0
Chinese	27,110	7	3,873	7
Korean	2,945	5	589	0
Punjabi	2,605	0	N/A	1
Italian	1,555	0	N/A	1
Spanish	1,320	4	330	0

Richmond

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	92,365	28	3,299	18
French	410	0	N/A	0
Chinese	38,405	10	3,841	9
Punjabi	3,425	0	N/A	2
Tagalog	1,540	1	1,540	0
Japanese	930	0	N/A	0
Spanish	605	0	N/A	0

Greater Victoria Area

	1996 Population	Reported Evangelical Churches	People per Evangelical Church	New Evangelical Churches Needed to Provide One for Every 2,000 People
English	283,090	66	4,289	76
French	1,435	0	N/A	1
Chinese	4,505	2	2,253	0
Punjabi	1,590	0	N/A	1
Portuguese	690	1	690	0
German	595	0	N/A	0
Vietnamese	570	1	570	0